
skrzyżowanie

skrzyżowanie

skrzyżowanie

skrzyżowanie

KM= 0+021m

Rzędna= 119.79m

R= 500m

L= 13.79m

Z= 0.05m

KM= 0+097m

Rzędna= 118.78m

R= 300m

L= 7.61m

Z= 0.02m

KM= 0+121m

Rzędna= 119.01m

R= 500m

L= 5.79m

Z= 0.01m

KM= 0+163m

Rzędna= 119.38m

R= 800m

L= 7.99m

Z= 0.01m

KM= 0+242m

Rzędna= 119.17m

R= 1000m

L= 7.66m

Z= 0.01m

KM= 0+319m

Rzędna= 119.07m

R= 1000m

L= 8.40m

Z= 0.01m

Rzędne niwelety

Rzędne istniejące

Różnice rzędnych

Elementy niwelety

Elementy trasy

Odległości

Kilometraż

Rzędne niwelety

Rzędne istniejące

Różnice rzędnych

Elementy niwelety

Elementy trasy

Odległości

Kilometraż


